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CDEFGDHIJ KLMDNLEJ NIO PQNRIO STH NEJ UVTWTXRTJ"

-��! KYZYT [\EDI]IDHSZJ! [TW^_HXNZYHI (QTWWRWQW! `^_NaYbDHIJ! $%%5"

KRN\IJ cHTNDHbZJA U_IdINHSaJ eaVIdIH fYTdI_IREXEJ Y^ gDZXE `OWTDNZX^QW [ODZWT"

h_Hb\a_QWA UDHXN^RdEJ ijSTJ"

`NEW ^DFTXRT TONZ Y^\^NkNTH NI _DGb\EYT NEJ IYTdI_IREXEJ '�	��������+" `NGlIJ NEJ

IYTdI_IREXEJ ^RWTH WT dHTlQDRX^H aWT XjWI\I d^dIYaWQW X^ IYkd^J '�	������+ NaNIH^J MXN^

E IYIHGNENT TWkY^XT XNT d^dIYaWT YRTJ IYkdTJ WT ^RWTH Y^FT\jN^DE T_G NEW IYIHGNENT

Y^NTmj NQW d^dIYaWQW dHT]ID^NHSMW IYkdQW" n IYTdI_IREXE bDRXS^H ^]TDYIFZ X^ _I\\k

_^dRT G_QJ TONk NEJ TWTFWMDHXEJ _DINj_QW! NEJ YElTWHSZJ YkVEXEJ! NEJ ^mGDOmEJ d^dI�

YaWQW! NEJ ^_^m^DFTXRTJ ^HSGWTJ! NEJ bHI\IFRTJ S"T"

`NT _\TRXHT TONZJ NEJ dHTNDHbZJ ^_HS^WNDQWGYTXN^ X^ Y^VGdIOJ IYTdI_IREXEJ _IO

XNEDRLIWNTH X^ XOWTDNZX^HJ _ODZWT ' ����	 ���������+ STH XOFS^SDHYaWT XNIW T\FGDHVYI

6����	 � �-���� _IO T_IN^\^R ^_aSNTXE NIO ^ODaQJ FWQXNIj � �-���� STH I I_IRIJ lkDE

XNE XOWkDNEXE _ODZWT STNIDVMW^H WT ^WNI_RL^H YE FDTYYHSk dHTlQDRXHY^J IYkd^J" oXNGXI

STH TONGJ _kXl^H T_G NI _DGb\EYT NEJ TDlHSI_IREXEJ" CHT WT NI m^_^DkXIOY^ _DIN^RWIOY^

aWTW WaI T\FGDHVYI NIW �	�
�	 6����	 � �-���� _IO T_IN^\^R YRT WN^N^DYHWHXNHSZ STH TOmE�

NHSZ _DIXaFFHXE XNI _DGb\EYT NEJ IYTdI_IREXEJ Y^ _ODZW^J" n YaVIdIJ TONZ _DIXVaN^H

YRT IYkdT X^ SkV^ XNkdHI YaXQ YRTJ STVI\HSZJ Y^VGdIO TWTLZNEXEJ E I_IRT T_IN^\^R�

NTH T_G _I\\T_\aJ ^SN^\aX^HJ NIO 6����	 � �-���� T_G STNk\\E\^J TDlHSI_IHZX^HJ" f

T\FGDHVYIJ TONGJ d^W ^mTDNkNTH T_G NEW TDlHSI_IREXE! ^WNI_RL^H YE FDTYYHSk dHTlQDRXH�

Y^J IYkd^J STH bDRXS^H Xl^dGW ba\NHXN^J \jX^HJ T_I]^jFIWNTJ kXlEYT NI_HSk ^\klHXNT"

h_H_\aIW _DIN^RWIOY^ STH djI NDI_I_IHZX^HJ IH I_IR^J Y^HMWIOW NI O_I\IFHXNHSG SGXNIJ

lQDRJ QXNGXI WT ^_ED^kLIOW XEYTWNHSk NEW _IHGNENT NQW \jX^QW X^ _I\\aJ _^DH_NMX^HJ"

`NEDHLGY^WIH XNEW _TDT\\TFZ NIO 6����	 � �-���� Y^ bkDE _TDIOXHkLIOY^ _QJ Y_I�

DIjY^ WT _DIXTDYGXIOY^ NIW �	�
�	 6����	 � �-���� STH NHJ djI NDI_I_IHZX^HJ NIO MXN^

WT dalIWNTH bkDE" n lDZXE bTDMW ^RWTH XEYTWNHSZ STVMJ Y_ID^R WT T_Id^HlV^R YRT HXI�

dOWTYRT Y^NTmj NQW Y^VGdQW TONMW STH dHk]IDQW SDHNEDRQW _IO ^]TDYGLIWNTH FHT NIW

dHTY^DHXYG FDk]QW"

fH _DIN^HWGY^W^J YaVIdIH dISHYkXNESTW X^ dHk]IDT XjWI\T d^dIYaWQW G_QJ N^lWENk

d^dIYaWT! -=� ^HSGW^J! ^HSGW^J _DIXM_QW! l^HDGFDT]T pE]RT STH FDk]IOJ STH G_QJ _DI�

Sj_N^H O_^DN^DIjW NIO 6����	 � �-���� Y^ _I\\T_\aJ ^SSHWZX^HJ"
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